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General Instructions :

1.

This question paper Is divided into two Sections : A & B. Each
section is divided into three subsections A, B, C. First section of
question paper is M.C.Q. Four alternative answers are given in
each. Select the correct answer and write down in your answer
book. |

Attempt all the question of each section is in one place. All
questions are compulsory. Marks of the questions are mentioned
againstthem. T

lllustrate your answer with neat and labelled diagram and chemical
equalions wherever necessary.
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SECTION-A (Multiple Choice Questions) '

Sub-Soctlon-A
R} e &e 1 orpefs 220V-100W 8 [ 57 F 110 AreE W
T ) & T e g woga vl Bfl- (1)

\ @, 100 AT 9 75d€ M. 507IC ¥, 259C

~ Anelectric bulb is rated 220V - 100W. When itls operated on 110V,
Ihe power consumed willbe: -
(a) 100Watt  «(b) 75Watt  (c) 50Watt  (d) 25 Watt
el gor o) asielr o wrer e T g (1)
(a) =R '(b) F=R/2 (c) F=2R (d) F=3R
The relation between radius of cunvature and focal length of
spherical mirror :

(a) f=R (b) F=R/2 (c) F=2R (d) F=3R

<) FErsl o T USS UR  WehTe R eaaa afoe g g,
ST Y07 BT (1)
® 0 . . 45° T, 60° H, 90°

If a light ray is incident vertically, at the boundary of two mediums
then angle of refraction willbe :

(a) 0° (b) 45° (c) 60° ' (d) 90°
) TR P TS SHST RIS BT A AT A UX SHDT Uik
Bl WIYI— L - (1)

® 9 W ITET M A/ H 1/37
When the length of a wire is three times its length, then resistance
willbe:

*(a) 9times (b) 3times  (c) 1/9times  (d) 1/3 times
freiraTe wer R it i & A - ) (1)
T, Gl 9 ufe T 9y Y. I8 el

. Which of the following physical quantity has unit KWH.

(a) Energy (b} Power - (c) Time (d) None ofthese
AT BT AAD Tl B (1)

@, Hrew @ fem M oWe b o aEe T8

Unit of refractive index is :
(a) Meter (b) K.G. (c) Second  \(d) No Unit
Wi




10.
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13.

14.

Rigar ey it Arss - (1)
i, “ﬂ:‘i‘i“ w, AT 1, qﬁ'tp,m Y, el

Tho unitof elastrlocurrontis !

(a) Coulomb (b) Hanry lc) Amporo (d) Joulo

SUB SECTION (B)
HCHO T IUPAC =111 - . (1)
F. FHfesEss 9. WO
T, WIS s o e

IUPAC name of HCHO Is .
(a) Formaldehyde (b) Melhenol

(c) FormicAcid (d) Methano!

N B AT 8- (1)
T2 W@ 3 T. 4 U 6

Valency of Oxygenis:

(a) A (b) 3 (c) 4 (d) ©

Ryw Rl T gyt 8- - (1)

T NaDUY W KDEY 7 AIDEYT ° Mg DA
Lithium represent dlagonal relationship. '

(a) withNa (b) withK  (c) withAl  '(d) withMg
e arg ) SO G T B— (1)
(@) Zn  (b) Sn (c) Ba . (d) Na

Which metalis keptimmersedin Kerosene.

(a)Zn  (b) Sn (c) Ba (d) Na

Y Srof) &1 e e 8- (1)

%, W g, A T U e geifeeE
Thefirstmember of the Alkene is series - '

(8) Methane ~ (b) Ethane .(c)-Ethylene (d) Acetylene
RNEag# H,s0, AT w AR gaie- (1)

(a) O, - (b) H, (c) SO, (d) SO,

Which gas is formed when zinc metal reacts with H,SO4

(a) O, “(b) H; (c) SO, (d) SO,

T TS et drorT ot Y ¥ ey gg- (1)

@, 1980 © . 19086 1. 1990 . 1975

(fRsm—10) (3) (PT.0.) I




GangActlon plan was started In which year

(a) 1980 \(b)- 1986 (c) 1990 (d) 1975
5. dHENwigE- (1)
\(8) CO, (b) CO (c) N,0 (d) SO,
Green House gasis: -
(a) CO, (b} CO (c) N,O (d) SO,
18. =% X BT Arg ¥ ey oo o7 B AT S - (1)

AR W My v ge s 9 e
Which of the following is not a part of female reproductive systemin
humans?

"~ (a) Ovary (b) Uterus (c) Vasdeference  (d) Fallopiantube
17, Aue O T wrH gRT SyERA A W E, dEA e — (1)
C® W ein @ e e
i T A TefH ¥, g A DG e

The substance which are decomposed by biological process are

i called: ..
| (a) Biodegradable (b) Non-biodegradable
| (c) Biological Sublimation (d) None ofthese
18.  Tava vaferor fegs #=mar o 2- (1) 1

w2 @ swA M R " 15 9O
| World enuironmenl-day fallon: | ; _
j.' (a) 21March  (b) 5June  (c) 14 September  (d) 15July
19, HTNIE TR 3 Y T 3 SeaT BiaT - )
| . WORRS I W, Agied® ankd
7. BEEFAING are °. fieRe s
Which acid is produced in human stomach:
(a) Sulfuric acid (b) Nitricacid
(c) Hydrochloricacid  (d) Citricacid
20. WS A 39 wAIT fh oy uw Rl (1)

| &, HeX g MR T E 2 M- e

Onwhich plant did mendel conduct his experiments :
(a) Pea (b) Carrot (c) Rose (d) Alithe above

(fasm—10) (4) | c




SECTION-B (Subjacye
Sub Socllon.A) i

' Araeret RUOT R A Y IR 7 Ry IR 1Y S — (1)
T TITARE W T P o p 3 e
Make the ray diagram for concaya mirr
(&) Atinfinity (b) Between pole g
2. ﬁ?ﬂ'ﬂﬁﬁﬁwa}ﬁﬁﬁ?ﬁﬁiﬁeﬂnamgq&ﬁﬁm
wfed wHEs | (4)
How m:any types of eye defecls are there? Explain with neat and

clean diagram about myopia and Hypermetropla?
3, wicer & TRl 22 wRRY @ s @ar 87 wwe aRaY @
Fers gy e o @1 i were | (1+1+2)

What is resistance? What Is the unit of resistance? Make diagram
of simple circuit also define the Ohm's Law.

4, wftR & Syoft w5 o THRR B @ g w1 P AR | ()

Derive the formula for equivalent resistance for parallel and series
pattem.

orwhen object is placed !
nd focus

TG OR
T W Srferenerd T B U 840 IS AT RETH TH B WX 360
qTe SYANT FRaT | e fpmarr 220 dee @ o) wlde Raafy |
farere &Y T wfeRIe &1 J S Sifg |

An electric iron consumes energy at a rate of 840 W, when heating
is at the maximum rate and 360 W, When the heating is at the
minimum. The voltage is 220V. What are the current and the
resistance in each case, '

e —— -

SUB SECTION-B
5, wﬁwaﬁmmmmﬁmwﬂmwm@_ (2)

Hvgefie & amad fram faRag? » @)
Chis 7 IUPAC AT e | )
HaC - (I‘« - CHs
CHa . ' il
B Write only chemical reaction of saponification? Write the periodic
CHa
|
law of Mendeleev write the IUPAC name of ~ H3C _c?h - CHa
3
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10.

1.

HTHCT oI e 0 7 ayped &7 wameeny Ay | (a)

gy 27 YT 0 v T NTETEY | A qor Aot
Y ar Rifa |

Define Nlux and slag with oxamplos? Whal Is soap? Describe the
cleansing action of soap, Write the difference botween soap and
delergent,
Wﬁmmﬁwﬁmmmmaﬁﬁgﬂmmmw
W vl AR ()

lllustrate the electrolytic method of obtaining pure copper from
blistered copper.

SUB SECTION-C
ﬂv@aﬁmﬁnﬂnﬁ@gﬁmﬁfﬁawml (4)
Describe the law of segregation of Mendel's with Suitable example.
Il g1l € | = Wi | (4)

The variations produced by sexual reproduction are more
permanent than by a sexual reproduction. Explainit.

A T s St wdt @ qerEr Fif (4)
Compare the renewable and non renewable energy sources.
HﬁmH?Waﬁﬂ?ﬂﬂTﬂﬂ?Wﬁ%ﬁﬁWﬁlmﬂﬁmﬁm
3 fraifafy @1 avi= g | 6)

Draw a labelled diagram of the structure of the human heart and
describe the mechanism of heart in man.

What is Nutrition? Why Nutrition is necessa

ry in living organism
and describe the human digestive system,

(fasmi—10) (6)



